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Notes:

Advanced Earth Curvature Calculator

Friday, August 31, 2018 - 17:54 | Author: wabis | Topics: FlatEarth, Calculator, Knowlegde, Geometry

+ Show Tutorial Link: walter.bislins.ch/CurveCalc

Target 1 Visible = 0 ft; Hidden = 96,590 ft
Size = 25,000 ft; Angular Size = 0.600733"
Drop = 112,800 ft; Drop Angle = 2.71491°
Top Angle = -2.12992°; Tilt = 5.42981°

Distance on Surface = 34.39 mi
Harizon Dip Angle = 0.414010°
Horizon Refr Angle = 0.03991&87°
Drop from Eye-Level = 1,312 ft
Drop from Surface = 656 fi
Sagitta (Bulge) = 28 200 ft

Grid Spacing = 1.298 mi

l

Left-Right Drop Angle = 0.00000745216°
Left-Right Width Angle = 0.687537" :
Left-Right Drop = 0.02382 ft
Left-Right Width = 0.4128 mi
Apparent Radius = 4,759 mi ]

=
—_

- Target Lift rel to Horizon = 21,180 ft
Target Lift Absolute = 22,840 ft
Horizon Lift = 1,661 ft
Target Refr Angle = 0.548790°
Refraction Coeff k = 0.1682 (Standard Atmosphere)

" Temp. Gradient dT/dh = -0.00198°C/ft (stable Layer)

Basics | View Target1 Target? Refraction= | Std | | 0 | Units = Save/Restore Reset All |

Observer Height 656 fi

Target Distance 451 mi B
Target Size 25,000 ft

Refraction 0.168151

n
H

Toom f 3.000 mm
Diagonal FOV 0.826317 ° ﬂ
Model @ Globe ©OFE © Globe+FE Camera Aim @ Horizon 0 Eye-Level

Show Data Object Refr. Harizon Left-Right Drop

Notes:



Advanced Earth Curvature Calculator

Friday, August 31, 2018 - 17:54 | Author: wabis | Topics: FlatEarth, Calculator, Knowlegde, Geometry

+ Show Tutorial Link: walter.bislins.ch/CurveCalc

Target 1 Visible = 0 ft; Hidden = 49,550 ft
Size = 25,000 ft; Angular Size = 0.813887"
Drop = 61,490 ft; Drop Angle = 2.00458°
Top Angle = -1.21206°; Tilt = 4.00915°

Distance on Surface = 34.39 mi
Harizon Dip Angle = 0.414010°
Horizon Refr Angle = 0.0399187°
Drop from Eye-Level = 1,312 ft
Drop from Surface = 656 fit
Sagitta (Bulge) = 15,380 ft

Grid Spacing = 1.298 mi

Left-Right Drop Angle = 0.00000745216°
Left-Right Width Angle = 0.687537°
Left-Right Drop = 0.02382 ft
Left-Right Width = 0.4126 mi
Apparent Radius = 4,759 mi i

- Target Lift rel to Horizon = 11,220 ft
Target Lift Absolute = 12,450 ft
Horizon Lift = 1,226 ft
Target Refr Angle = 0,405204°
Refraction Coeff k = 0.1682 (Standard Atmosphere)

" Temp. Gradient dT/dh = -0.00198°C/ft (stable Layer)

Basics | View Target1 Target2 Refraction= | Std | | 0 | Units = Save/Restore Reset All

Observer Height 656 ft
Target Distance 333 mi

Target Size 25,000 ft
Refraction 0.168151

foom f 3.000 mm
Diagonal FOV 0.826317 ®
Model @ Globe ©FE O Globe+FE Camera Aim @ Horizon ) Eye-Level

Show Data Object Refr. Horizon Left-Right Drop

Notes:

Piezo Notes:

Technology utilizing triangulation of two VHF beams during World War Il to bomb England from Germany.



First beam from Stollberg Hill to Derby.
Second beam from Kleve to Derby.

The flat earth argument is as follows:

HF waves operate in the 3-30 MHz band. This band includes "skywaves" which can bounce off of the ionosphere. VHF operates
within the 30-300 MHZ band. UHF operates in the 300-3000 MHz band. VHF and UHF penetrate the ionosphere. They are used in
line-of-sight applications because of this.

According to historical record, the Knickebein system used line-of-sight propagation to target planes hundreds of kilometers away.
Based on the math, with standard refraction included and accounted for, this should have been impossible on a globe. In fact, this is
the very reason the British intelligence informed British scientists about their suspicion of the towers' existence and use, and the
scientists rejected the possibility.

Continuing... the Knickebein system was used to perform precision strikes on targeted factories at night, with accuracies within 100
yards. The intercepted beams, after being discovered over and near Kleve, measured widths of 400-500 yards.

Insert standard explanation: the early towers operated between 31-33MHz frequency, which is BARELY above HF and in the low end
of VHF. Under perfect conditions, these can still sometimes be reflected off the ionosphere. Therefore, this must have been what was
at work in order for the planes flying at 19,000-25,000 feet of altitude to intercept the signal beams once they were over Kleve.
(edited)

Problem with this explanation: ionospheric skywave propagation, also known as "bouncing" or "skipping," does not occur in straight
lines and perfect angles. Instead, it will end up reflecting the received wave off at some level of cant or angle which will vary based on
atmospheric conditions and other variables. This change in angle, regardless of how large or small, would have caused a shift in the
point at which the two beams being used would have intersected, meaning it would have altered the point at which the planes would
have dropped the bombs. An angle change of only 1 degree from the beams shot from either Stollberg Hill or Kleve would have
shifted the beams by kilometers.

Another problem with the idea that the Knickebein towers shot skywaves is the fact that when people actually do shoot skywaves,
they aim the projecting equipment directly towards the sky. The Knickebein system shot the beams directly towards the target, as the
planes actively flew inside the beams while flying from Germany to Derby. The only reason they would have eventually ended up
hitting the ionosphere would be because of the natural trail-off towards the sky as the earth curved away from the beams underneath.
But, looking at the pictures, you can look at the variable labeled "Drop" and see the altitude the beams would have been at when they
reached Derby (or "Hidden" to see the altitude after accounting for refraction). When we look at these altitudes, we see the higher of
the two as being about 100,000 feet, which is FAR short of the ionosphere, but still FAR above the altitude the planes flew at, which
means they would not have received the signals.

In conclusion, by the times the beams reached Derby, on a globe they would have been far too high above the planes to be received
but far too low below the ionosphere in order to experience any sort of "skip" or "bounce," and even if someone just brute-force-logic
assumed that a skywave or bounce DID happen, that would have caused an angle change which would have defeated the accuracy
of the system that factually performed precision strikes on the Rolls Royce factory. Thus, the earth cannot be a globe approximately

3,959 miles in radius.

@Young_Piezo



